

①

$$g(n) = f(r \cos n + \sqrt{r} \cos n)$$

$$g'(n) = (r \cos n (1 + \cos n) - \sqrt{r} \sin n) f'(r \cos n + \sqrt{r} \cos n)$$

$$\rightarrow n = \frac{\pi}{4} (r(1+1) - \frac{\sqrt{r} \cdot \sqrt{r}}{r}) f'(1 + \frac{\sqrt{r} \cdot \sqrt{r}}{r}) = \sqrt{r}$$

$$(r-1) f'(r) = \sqrt{r} \rightarrow f'(r) = \frac{\sqrt{r}}{r}$$

② ~~$$f(n) = \frac{(r + \cos n)(\cos^2 n + r \cos n + r)}{(r + \cos n)(r - \cos n)} = \frac{r + r \cos n + \cos n}{r - \cos n}$$~~

~~$$\frac{r + r \cos n + \cos n}{r - \cos n} = \frac{r}{r - \cos n}$$~~

$$f(n) = \frac{(r + \cos n)(\cos^2 n + r \cos n + r)}{(r - \cos n)(r + \cos n)} = \frac{r}{r - \cos n}$$

$$f(n) - r g(n) = \frac{\cos n (\cos n - r)}{r - \cos n} \Rightarrow f(n) - r g(n) = -\cos n$$

$$f'(n) - r g'(n) = \sin n$$

$$\rightarrow n = \frac{\pi}{2} \Rightarrow f'(n) - r g'(n) = -\frac{1}{r}$$

Arman

$$(3) f(x) = |f_n - r| \sqrt{an} \quad x = \frac{r}{r}$$

$$\lim_{x \rightarrow \frac{r}{r}^+} h \cdot \frac{(f_n - r) \sqrt{an}}{x - \frac{r}{r}} = f \sqrt{an}$$

$$\lim_{x \rightarrow \frac{r}{r}^-} h \cdot \frac{(r - f_n) \sqrt{an}}{x - \frac{r}{r}} = -f \sqrt{an}$$

$$f \sqrt{an} - (-f \sqrt{an}) = 2f \sqrt{an} = 2f \sqrt{4}$$

$$f = \sqrt{\frac{4r^2}{a}} \rightarrow \boxed{a = \frac{1}{r}}$$

$$(4) y = -ax + r \quad A = \begin{vmatrix} f \\ -fa + r \end{vmatrix}$$

$$y' = -a$$

$$(-a) \cdot (-fa + r) = -1 \quad -da + r = -1$$

$$da = r \quad a = \frac{r}{\omega} \rightarrow \boxed{f'(f) = -\frac{r}{\omega}}$$

$$(5) y = \frac{1}{v} x + \frac{d}{v}$$

$$\frac{1}{v} x + \frac{d}{v} = \frac{ax - 1}{r_{n+1}}$$

$$\frac{1}{v} = \frac{a + r}{r_{n+1}} \quad r_{n+1} = \sqrt{a + r}$$

$$\frac{x + d}{v} = \frac{ax - 1}{\sqrt{a + r}}$$

Arman

$$(a + r)x + d = ax - 1$$

$$rx + d = -1 \quad \boxed{x = r}$$

$$v = \sqrt{a + r}$$

$$-1/r = \sqrt{a}$$

$$\boxed{a = -r}$$

$$(4) f(n) = x^n + an^2 - b \xrightarrow{\text{differentiate w.r.t } n} f'(n) = nx^2 + a$$

$$f'(n) = nx^2 + a \xrightarrow{n=1} f'(1) = 1 + a = 20 \rightarrow a = 19$$

$$f(n) = x^n - 19n - b \xrightarrow{n=1} f(1) = 1 - 19 - b = -19 - b$$

$$-19 - (-19) = (-1)$$

~~$$(5) f(n) = \frac{f(n)}{f'(n)} \quad f(n) = \sin^n(n^2)$$~~

~~$$\lim_{n \rightarrow \infty} \frac{f(n)}{f'(n)} = \frac{\sin^n(n^2) \times n \times \cos(n^2)}{n \sin^{n-1}(n^2) \times 2n}$$~~

~~$$\lim_{n \rightarrow \infty} \frac{\sin^n(n^2) \times n \times \cos(n^2)}{n \sin^{n-1}(n^2) \times 2n} = \frac{\sin^n(n^2) \times \cos(n^2)}{2 \sin^{n-1}(n^2)}$$~~

$$(V) \sin^n(n^2) \times n \times \cos(n^2)$$

$$\lim_{n \rightarrow \infty} \frac{\sin^n(n^2) \times n \times \cos(n^2)}{(1 - \cos n)^m}$$

$$\lim_{n \rightarrow \infty} \frac{x^n \times n \times (n^2)^{n-1} \times \cos n \times 1}{(1 - \cos n)^m} = \lim_{n \rightarrow \infty} \frac{x^n \times n \times (n^2)^{n-1} \times \cos n \times 1}{(1 - \cos n)^m}$$

$$\frac{x^n \times n \times (n^2)^{n-1} \times \cos n \times 1}{(1 - \cos n)^m} = \frac{x^n \times n \times (n^2)^{n-1} \times \cos n \times 1}{(1 - \cos n)^m}$$

$$n - 1 = m \quad x \sqrt{x} - 1 = m$$

Arman

$$x \sqrt{x} - 1 + \sqrt{x} = \sqrt{x} - 1$$

$$① f(n) = \frac{\sqrt{n} + 1}{\sqrt{n} - 1} \quad \text{or} \quad \frac{a+1}{a-1}$$

$$f^{-1} \mid ? \quad f \mid ? \quad \frac{\sqrt{n} + 1}{\sqrt{n} - 1} = r$$

$$\sqrt{n} + 1 = r\sqrt{n} - 1 \quad \Rightarrow \quad n = 9 \quad \Rightarrow \quad (1 + \frac{r'}{r\sqrt{n}}) \times 1 = (1)(10)$$

$$\frac{r}{r} \times 1 = 10 \quad \Rightarrow \quad \frac{r}{r} = \frac{f(0)}{r} =$$

$$f'(n) = \frac{(\frac{1}{r\sqrt{n}})(\sqrt{n} - 1) - (\frac{1}{r\sqrt{n}})(\sqrt{n} + 1)}{(\sqrt{n} - 1)^2}$$

$$f'(9) = \frac{(\frac{1}{9})(r) - (\frac{1}{9})(r)}{r} = \frac{\frac{1}{r} + \frac{r}{r}}{r} = \frac{1}{r}$$

$$(f^{-1}(9))' = \boxed{r}$$

$$④ \quad x=0 \rightarrow f(0) = 1$$

$$x=-1 \rightarrow f(-1) = 1(-a+1) = -1a+1$$

$$\frac{-1a+1-1}{-1-0} = -11 \quad \Rightarrow \quad -1a+0 = -11$$

$$-1a = -11 \quad \Rightarrow \quad a = \frac{11}{1} \rightarrow \boxed{a = -\frac{1}{r}}$$

$$f'(n) = r(n^r+1)^r(rn) + (-\frac{1}{r})(n^r+1)^r$$

$$x=1 \rightarrow r(r)(r)(\frac{1}{r}) + (-\frac{1}{r})(1)$$

$$f'(1) = 1r - r = \boxed{0}$$

Arman